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QUESTION 1

A customer has a partitioned system running IBM i and Domino. The customer is considering a new system to replace
the existing system and wants to add a Web Sphere application and an AIX application. 

Which of the following will assist in sizing the new system? 

A. Performance Management (PM) for Power Systems 

B. Workload Estimator (WLE) 

C. Snap Shot 

D. System Planning Tool (SPT) 

Correct Answer: A 

 

QUESTION 2

A customer running AIX wants to run DB2 on a new S824 server with uncapped partitions. The customer has licensed
DB2 for 15 of the 24 active cores and will use it in multiple partitions. 

How can the customer ensure that DB2 does not exceed the number of licenses purchased? 

A. Create 15 shared processor pools for the DB2 partitions. 

B. Limit the number of virtual processors on each DB2 partition to 15. 

C. Use partitions that cannot use more processor capacity than its assigned processing capacity for the DB2 partitions. 

D. Use a 15-core shared processor pool for the DB2 partitions. 

Correct Answer: D 

 

QUESTION 3

A customer is willing to consolidate several servers running Oracle and DB2 databases from several departments on a
single server, while keeping them administratively separate. 

They are concerned about licensing after consolidation, because they are not willing to pay for Oracle licenses for the
cores running DB2 and pay for DB2 licenses on cores running Oracle. 

What would be the best method to handle this situation, to make the environment compliant and achieve the customer
demands? 

A. Create two capped LPARs, one for Oracle databases and other for DB2 databases, and make sure the LPARs have
the right amount of cores assigned to them according to customer existing licenses 

B. Create one capped LPAR per consolidated server, on each LPAR profile page on the HMC select the corresponding
database type, and make sure DB Isolation option is checked 
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C. Create one uncapped LPAR per consolidated server, monitor CPU usage and keep a spreadsheet up- to-date to
account for the databases licenses used for compliance audits. 

D. Create two Shared Processor Pools, one for Oracle and another for DB2, and consolidate the servers on distinct
LPARs on the corresponding pool 

Correct Answer: D 

 

QUESTION 4

A customer requires each AIX or IBM i LPAR to have access to two different VLANs but without VLAN tagging. They
plan to have dual VIO Servers on the same POWER8 system, using Ether Channel and SEA for each VLAN. 

What is the minimum requirement to support the configuration? 

A. (2) quad port Ethernet adapters 

B. (4) quad port Ethernet adapters 

C. (2) dual port Ethernet adapters 

D. (4) dual port Ethernet adapters 

Correct Answer: D 

 

QUESTION 5

A customer consolidated several environments running IBM i, Linux and AIX into an S824. Now the system\\'s installed
memory is insufficient. The customer believes that the Active Memory Expansion feature may resolve the memory
issue. Which of the following operating systems is capable of using the compression and decompression technology to
resolve the issue? 

A. AIX 

B. IBM i 

C. Red Hat 

D. SUSE 

Correct Answer: B 
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